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Print (int n){
if(n==1){ @

cout<<l ;
}
else{
print(n-1);
cout<<n ;
}
}
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fact(n : integer) : integer
{ v

i n == then

return 1;
else
{
x = fact(n - 1);
return (n * x);
}
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fibo(n : integer) : integer
{ ‘/

if n == 1 or n == 2 then
return 1;
else
1
x = fibo(n - 1);
Y = fibO(n - 2);
return (x + y);
}
}
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Hanoi( A, B, C : pivot ; n : integer )
{
3f n. == 1 then
MOVE ( A -> C );
else
{
Hanoi( A, C, B, n-1 );
MOVE ( A -> C );
Hanoi( B, A, C, n-1 );
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Hanoi (A, B, C, 3)
Hanoi (A, C, B, 2)
Hanoi (A, B, C, 1) 3 Disk 1
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A-->B (2) g ‘ L
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B-->C (6)
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A-->C (7)
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A.B.C.n
hanoi(1,2,3,3)

A.B.C.n

if (n==1)

else
hanoi(1,3,2,2-)/
mov 1->é> &
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Ex Hanoi
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FEx Hanoi Algorithm

ExHanoi(A, B, C: pivot; n : integer)

{
if n ==
{
MOVE(C -> B);
MOVE(A -> C);
MOVE(B -> A);

MOVE(B -> C);
MOVE(A -> C);

ExHanoi(A, B, C, n -
Hanoi(C, A, B, 3*n -

MOVE(A -> C);

Hanoi(B, A, C, 3*n -
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sum( L. : Array, start, end : int ) : int

{

ISR =—— el

ret L[start];
else
{
a = sum( L, start, lwl);
b = sum(L, l%ﬂmdl R Gl
reta + b;
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f1( integer a, integer b) : integer

{

ffa<banda=zlandb =1

return (f1( a-1, b) + f1(a, b-1));
else

return a;







f1(int a, int b) : int
{
==l ornbi=i=
Relolt
ifa<b
ret (f2(b-1, a) X a);
else
reta + b;
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f2(int a, int b) : int
{
i =t g ] =
fers
ifa=zb
ret (f1(a-1, b) + b);
else
tet a — b;
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